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Direction (Question 1-17

In each question, the numbers / letters
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under

Sl oetmenflder  / TS Seman each sequence for the term marked by
Casr@&siu’ Qerar 4 rhmy the symbol (27
afleoLsafletlm g CaiiOs@mssanu.
1. 1.
48 | 21°{ 36 [ 35 20 9 48 121 | 36 [ 35 2{ 9
6 3 6 7 7 3 6 3 6 7 /s 3
1)4 2)5 1)4 2)5
30 4) 20 3)0 +)20

2. 1,4,9, 16, 25, ciinnen 2. 1,4,9,16, 25/ e
1) 64 2) 81 1) 64 2)81
3) 49 4) 36 3)49 4) 36

3. 1,1,2,3,5,8, 13, 21 v 3. 1,1,2,3,58, 13,21 .

1)34 2) 30 1) 34 2) 30
3)29 4) 37 3)29 4)37

4. 1,1,4,8,9,27, 16, 64, <, .. 4 1,1,4,8,9,27,16, 64, «oorvv, .
1) 36, 216 2) 49, 343 ' 1) 36,216 2) 49, 343
3) 25, 125 4) 16, 64 3) 25,125 4) 16, 64

5. 5. \

(&) O © ® ©
FO TOF TOTHLED
1) 336 2) 224 1) 336 2) 224
3) 378 4) 420 3)378 4) 420

6. 037871524, ... 6. 0,3,8,1524,.....

1) 80 2) 48 )80 2)48
3)63 4) 35 3)63 4) 3%

7. 'BABY'stéirugy 21225 sraregh,  'CHILD' 7, If'BABY" is coded as 21225, 'CHILD’
STTUG) 389124 ereeyd GBI e, is coded as 389124 then '"MOTHER' js
"MOTHER' ETEHTLIG; —— eTenT coded as ------ -

GMl&a&IU@HLD.
1) 1315205881 23151208518 1) 1315205881 2) 3151208518
3) 1315028518 ) 1315208518 3) 1315028518 4) 1315208518
388/145—3
—— )
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8. 'ENGLISH' srarugmemsar st 2 74
wimid "TAMIL' stetugpsmer stemr 2.0 55
stafled ' MATHS' sTeiTusM&ETen sTe8ar 2. (1
1)55 2) 80
3«)]61 4) 64

9. 'CLASS' eerugy 'FODVV'  eterayd,
'BOARD' eretrugy  'ERDUG’ ETEITRLD

@GP0 Lmed, 'CHALK' srebrug) ———— etemés
G o

1) EJCNM 2) FKDON

3) FIDOL 4) DIBML

10. 'DOG' ersirug WLT erswreyin, 'CAT' eraiugy
XZG srareyn @A Lmed, 'COW' staitugy
————— eTerS G MlSSILEID.

1) XLD 2) XLW
3) XLE 4) XDL

11. BOOK esrugy KPPB srarayn, NOTE
serug)  EPUN  stemrey @@L me,

PENCIL srsorug) ————- 616016 (GMIGSUUEILD:
1) LOFDJP 2) LFOJDP
3) LFDOJP 4) LFODJP
12. 1 2 |8 2 |4
128 | 32 64 | 16
573 X%
3)3 4)0
13. 1 9
[ {wel3 ]l [0z 141
7 5
122 H5
3)36 483
38811454

10.

11

13.

www.TrbTnpsc.com

If the numerical value of '"ENGLISH'
is 74 and "TAMIL' is 35 then

'MATHS' is --——--
1) 55 2) 80
3) 61 4) 64

If 'CLASS' is coded as 'FODVV*"and
'BOARD' is coded as '"ERDUG" then
'CHALK' is coded as ---—===

1) EJCNM 2) FKDON
3) FIDOL 4) DIBML

If 'DOG' is WLT, 'CAT" is XZG then
'COW Js—ne>

i) XLD 2) XLW
3) XLE 4) XDL

BOOK is coded as KPPB and NOTE i
coded as’EPUN then PENCIL is code
as

{) LOFDJP 2) LFOJDP
3) LFDOJP 4) LFODJP
2 |8 ? |4
12832 64 | 16
i 2)2
3)3 4)0
1 9
[ Twel3 ] (7 12 4] |
7 5 t
1)22 2)25
3)36 4)83

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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277
5
14. 14.
21 [ 16 15 | 12 21 | 16—, [ 15 | 127]
9 112 4 6 |3 2 9 |12 4 6 [ 2] 3
By 2)2 1) 4 2)3
39 4) 51 3)9 4) 51
IS, 5 7 7 9 14 20 15. 5 77 9 14 ?
6 8 10 6 8 10
verz 2)13 1)12 2)13
A3 11 311 49

.L)‘)

to. [36] [35] [ 3] [64] [39] 16 351 2] 9] (G851 el [
14 17 2 14 17 ?
1
L L O G N ) EN b I O EN R T Y
30 2) 20 1) 30 2) 20

hHi 414 31 1) 14

!7‘ . y | . .

XN 2)3 )7 2)3

3o Jf’ 2 3)6 4)2
suflweom (@Nsr stemr. 18 Y&ss 21 susm) Ditection (Question 18-21)
QeiGlaum( sflsrraflguh Gamgel L @ sdlamer There is a blank Space in Question
Cer@ssiud Gsiar 4 Lormmy 18-21, in which only one of the four
sﬁ]eml_ssrﬂmﬂ@rj@j CoiQs®ss Hlemime) alternatives given under satisfied the
Qs Goismr@un, ¢ 6TeT (@ Qés relationship as is found between the
pemari @y QTGS QA i iy terms on the other side of the sign ‘: 2
UESSCL etrerm ). Qb5 @gm_ity
UirSlusiié @i ausmeulley 2’ 1687
GIULTH YT Wedrer T
UTT MG (sl gL GevegioT (Hib.

18. Socks: Feet : s ccee s S mmmmmedeet [8. Socks: Feet : s —ceeeeo__ Do
Iy Coat : Pocket 2) Glove : Hand 1) Coat : Pocket 2) Glove : Hand
3) Tie : Shirt 4 Collar: Neck 3) Tie : Shirt 4) Collar : Neck

388/145—5
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23.

24.

25.
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&

Shadow : Light ; : ——------: Mirror
1) Surface 2) Frame
3) Shining 4) Image
645423125 ¢
3 2) 42

g 13 4)8
AGM : AHO:: FLR: ——--
1) FLS 2) FMS

J} FMT 4) FMR
mrezef) gauad  Quuidsr  sCsrad,
Curefla sterusui QgubEsT b, &Gemeia
sretrusui Gurafsrafar SHms, Mg eTua
SCaraflstr gybiar ererflsd qmswfl ETEOTLIET O
ETSITLIRU(G (@ 6TsbTenr 2 (U6 ?
1) LseT

’ Q»)'Ea;rrsir@ﬂ Gusg gl
3)Gus
4) QamemEnl LT g
A sreirusuit B —sir aGargil, B sretuaui C —er
aCargi, C evsorusui D—6ir waetr erefle D
sTeTUGIT A STETURITHE (S 6TTeIr 2-Mey ?
1) Logetr ?,Lﬂassir
3) Lomom ) Smil
rGmes,  USHSIUL SE6 o 6T6m. 6(0h
QueiTenentd &l gssmly 'She “is my
grandmother's  only son's mother”
sresrémT sTenflsd SUIGILITIT r@eaflis, sreTen
2 ma|?
1) Lossir Fyum_lg
3) sGangifl 4) gmil
e auflsmauilsd ymid sresrusuil @LLNmHES! 15—
ag  @LsHei,  ambess  2-0s
Qb Gmbgr srafle Ssuaiflsnguiled
o eirem QLo LomsweTeut sefls sTetoT 6w 6 e
136 235
3) 34 4) 37

388/145—6

19.

20.

21.

23.

24.
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Shadow : Light : : -——---—--: Mirror
1) Surface 2) Frame

3) Shining , 4) Image

64 :4:: 1252«

)5 2) 42

313 4)8

AGM : AHO:: FLR : -

1) FLS 2) FMS

) FMT 4) EMR

Rani is Jayant's sister. Monica is
Jayant's Mother. Dinesh is Monica's
father. Lata is Dinesh's mother. How is
Rani related to Lata?

1) Daughter

2) Great granddaunghter

3) Grand daughter

4) Great grandmother

A is/the sister of 'B', 'B' is the brother
of 'C" amd 'C"is'the son of 'D'. How is
P related to A?
1) Sen

3) Uncle

2) Daughter
4) Mother

Pointing to a lady in the photograph,
Rajesh said "She is my grandmother's
only son's mother". How is the woman
related to Rajesh?
1) Daughter

3) Sister

2) Grandmother
4) Mother

Ram's position is 15" from the left and
21* from the right in a row. How many
students are there in the row?

1) 36 2)35

3) 34 4) 37

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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26. - X sTevTLSUT Gloriie; Grmédhsremm. et 45" 26 Mr.-X is facing West, He turns 45" in

B&EM it Cosigud - Bemesi, st the anti-clockwise direction and then
Slmsuflgyn, 180" SL&M - weir  Qedgyin - 180" in the clockwise direction. Which
@m&uﬂgyu’u S SNermi “sTeaflsu, sMGuTg) direction is he facing now?

- jeurt a1 Hlem s GrBmé: (g sumi ?
Voysg 2) o Gumg 1) East 2) North West
oSy 5) G arGumnes -3) North East 4) South West

27. BT sreme) 61 el e Ayé© Gersdl 108 27 | walked 10m towards the East of my
SMd FL g, dng aLée Crrsd Spod -house. Then turned North and walked
158 gmmb pLig Gue Crréd Sand 10 & 15Sm straight then turned West and
BL&&CmsT sTerfled SMGUTG) sTeir il g a8l 155 walked 10m. How far am I from my
SeIT sTeiieustey Giyseen BlmlGusir ? ‘ house now?
1) 354 2) 5 1) 35m 2) 5m
3) 154 4) 2518 3)15m 4) 25m

28. BH6uUTg  wseaflsr g 10. Qe 28, At present the age’ of the son is 10
UGLESERSE (s shegullsr . auwg years. 2 years ago, 'his father was 4
waafler auume G frsis LOL i@, sreaflsd times as old as him. What is the
BOAUTYE) Shasufar auwig rerar 2 present age of his father?
1)32 2) 34 1)32 2) 34
3) 36 4) 40 3) 36 4y 40

29. 86 GHLUSHD GODUGSmsvsuT, S6Urg) 29. A family| ¢onsists of a husband, his
ueerel, 3 wssrssT LofmIh  yeuisema; Wife, their 3 sons and their wives. Each
wsvarelumh o i, Guogd, epsuGleums son_has- 3 children. How many
LTSS 3 GYicsHET o dreramt sefle members are there in the family?
SSGSHUUSHD o erer o miciSleorii & siflsar
sTenaT el em e sTell6ueRY ? 1) 17 2) 11
Y17 2)11 3) 14 412
3)14 4) 12
euflipenm (elsor eredor. 30-34) Direction ( 30 -34)
Qar@ésiiuc GBS EhEE o UG el For the given situation, Choose the
eretr. 30 (pe56b 34 euenry eflen_weréseseyin. appropriate option for the questions
A stsiuaui B —m el o wmomsreut QY 6TTED 30-34

C —g el @sivemuomarau

D eréirueui C ~g eflL_ o wipomsmmeu D FTITE)

E - el @siremorareud.

A, B, C, D, E DG srminuflen suflsy
mrﬂmmju@,é,gﬁuﬁ@sirmﬁmf

A is taller than B but shorter than C
D is taller than C but shorter than E
All are placed in an ascending order.

30. @eansafie Sweraifigud e e wmorerait 30, Who is the tallest of all?

wn ?

A 2)D I)A 2)D
‘3—) E 4)C 3)E 4)C
388/145—7
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31, @euissfls tsayd @sremareai wirt ?
hHA 2)D
3)»C 47 B

32. @auisafis GeoL e Hipueut wm ?
1,2 e 2)B
HA 4)D
33, @aiseld G raigns GnOusi wi ?
\? A 2)B
) C 5@ D

34, suflenaufler prsiramaugBTa Binusut w ?
e A A
& D 4B

suflpsnm (eleorm sTea01. 35—37)

"+ ereorugl ' sTema LD

"' gragrugl '+ sTeTaLD

'+ gretrug) 'X' eTTEYLD

'x' ersiruigy '+ eTeTUGTELD sTeuflsd
Ep& @B Beirem eflaTé:8 @S E

aflsoLwef&&e]0.
35. 8-4+2x6=-——--
1)—4 2)0
)10 4) 12
36. 21+7x4+3-3+4=/-+—
1) 14 2) 22
3)28 4) 112

37. &Gy 2 emsreauiile sflurars) 181 ?
™ 3+ 2 eretTugl S
) 7 x 8 eraaruigy) 56
3) 32 =8 srevruigy 24
\4518 ~ dgTiTug 2

W
o % s
\ s

388/145—8

31.

32.

33.

34.

36.

37

www.TrbTnpsc.com

Who is the shortest one?

1A 2)D
3)C 4B
Who stands in the middle position?
nHcC 2)B
3)A 4)D

According to their position, who would
be in the second place?

HA 2)B
3)C 4)D
Who would be‘in the fourth/piace?
)C 2)A
3)D 4B

Direction (Question 35 - 37)
[f'+' means'<',
~' means '3
'+ means'x',
'x' means '+'
then answer the following questions
by converting to original operators.

8-4+2x6=-—-—
1)—4 2)0
3) 10 4) 12

2 +7x4+3-3+4=
1) 14 2) 22
3)28 4) 112

Which one of the following is true?
1)3+2is5

2) 7 x8is 56

3)32+8is24

4)8—-4is2

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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38. 5x8=10,6x6=9srsaﬂsb3x8=?
13 2)8
3)6 4)2
39. 24 x 31= 64, 51x62=68 erafis
81x62=2
1) 98 2) 49
3) 48 4) 92
40. If15-11 =24,22 - 15 =42 eraoflsd
30 -21=?
)45 2)48
3) 54 4) 58
suflipsmm (aflsor sregor, 41-50)
Clasr@sasi 6T6T0T 63015 6T/
U SENS E6iT/ 611056516616t
S, Wppeaisafi_ifis s safs)
2 66 g). S|Femas; CaitQsBéasaLn.
41. 1) REFER 2) LEVEL
3) MADAM 4) GUIDE
42. 1) Aifls0ls. 2) amngd
3? SLig 9 Gleeu
43. Fpstud 2) QrensuGud
ip@glrmsuéaam'_él 4) Ggmene ;a6
44. WBUBGHIG 2) Bl
3) reigwm 4y soliumear
45. Delus 2 @Lib
IBHUL G  #g
46. 16 P HI‘T 21
3Y2 4)H 19
388/145—9
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mgﬂ(gmg;‘(aﬂsqm ststor. 38-40)

Spengmih L
aﬂé]uﬂoiﬂn;&gmé&aﬂuﬁ@sﬁmgj.
sflwrar eflsoLsmws SITET &,

\_/\)

(50

38.

39.

40.

41.

42,

44,

45,

46.

-~ www.TrbTnpsc.com

Directions (Question 38-40)
The following sums are based o0 some
pattern. Find the correct answers,

lf5x8=10,“6x6=9than3x8=?
13 2)8
3)6 4)2

If 24 x 31= 64, 51 X 62 =068,
then 81 x 62 =2

1) 98
3) 48

-

2) 49
4)92

lf15—ll=24,22—]5:42,

then 30 -21=2
1)45 2) 48
3)54 4)58

Direction (Questions 4] - 50)

Chaose theodd numeral / word /
letter from the given questions.

1) REFER 2) LEVEL
3) MADAM 4) GUIDE
1) Cricket 2) Hockey
3y Kabadi 4) Chess
1) Cell phone 2) Telephone
3) Television 4) Fax

1) Tamilnaduy 2) India
3) Russia 4) Japan
1) Ship 2) Boat

3) Yacht 4) Jet
16 P 2)T21
3)Y2 4)H 19

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



47.

48.

49.

50.
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@7"}/
1 ¥100 -«
3) 64 729
1)2 2)31
3)23 4]32
1)a 2)u
‘37(1 4)e
117, 104,91,73,78
l';)73 2) 117
3y91 4) 104

51. 8x7=647849, 9 x 6 =816936
sTeufley 4 x 5= ——-
1) 164525 2) 164125
37 165425 4) 160925
52. 2*5=7310,3*7=10421
sreofled 4 * 9 = =
13536 2) 131336
3) 36513 4) 364913
53. 729,512,343, 216, -
w25 2) 100
3) 64 4) 81
54, 5+4=209;3+7=21105
2+6= 128 aresfi 1.4+9=F0—
1) 109 2410
3)19 %081
55. 8+4=232;6+2=312
15 = 3 = 545 ereofled 18 + 3 = -
1) 546 2) 2115
87654 4) 5415
\%7‘5 n
4
358/145—10

10

47.

48.

49.

50.

31,

53.

55.

www.TrbTnpsc.com

ni 2) 100
3) 64 4)729
12 2) 31
323 4) 32
I)a 2u
3)d 4)e
117, 104,91, 73,78

)73 2) 117
3)91 4) 104

If8 x 7= 647849, 9 x 6= 816936
then 4 X 5 = (———=5====

1) 164525 2) 164125

3) 165425 4) 160925

. 1¥5=7310,3*7=10421

then/ 4 * 0 = —teemm

1) 13536 2) 131336
3y 36513 4) 364913
729,512, 343, 216, -
1125 2) 100

3) 64 4) 81

5+4=209;3+7=2110;2+6=128
then 1 +9 = —=-—om-

1) 109
3)19

2) 910
4) 1081 .

8 +4=232;6+2=312;

15 = 3 =545 then 18 + 3 = —---—-
1) 546 2) 2115

3) 654 4) 5415
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59.
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1/ 33
s (el 6T6007.56-60) Directions (Q.No. 56 - 60
ClaT OGS Gerrar susmyL Geleh ' In the figure AR
QL th - Qm‘fﬂﬁl@ aﬂmmuﬂLt;swa@u@m the circle - represents the_'cl'h_il'
GYhmsSmaTLD e S like to play outdoor games,
81T — 2.C 4 eflsmemm’ @ y square — indoor games,

i e MR Rectangle — Read books # A
Qesisuan — &L surd Tl ;
s BB Lopgin Triangle — watch Television.

@é}(‘a’&m?mh _) Gfg;rrsmsuésaamleﬂ' unr:ré,g,sb On the basis of this information, answer
,g&e‘;].u.lmmmg)ﬁ GHSASI: Glaubhisir the questions 56 - 60, GE AR
St LiuenL-ufls 1Sleareu(mia axflearrés & i s (55

(56-60) aflenLwaflésaun.
Watch /j\
Television

= i I £ 8
‘Indoor
ol Games &
- i H

Outdoor
games

Read books

TIUGEH  Gyhmsssis SIEOSTES) S6. Which area represent the children

CewsdSmensoryn GM&Ssrmg ? who like all the four activities?
1A 2B HA 2)B
3)C 4)D 3 C 49D
61U &)(567) GYsmssain sCaamd 57. The ‘area(s) which represent the
@ LFwsHmensrs G@flsAsTmg Children who like only one activity are
1) ACDB 2) EFHI ——
3) EFGH 4. JKLM 1) ACDB 2) EFHI
3) EFGH 4) JKLM
QmﬂﬂﬂL@ aflensmum’ el 1o (i 58./ Who like only outdoor games?
aflmyusur Wi ? 1)C 2)G
NE ;3 2)G 3)F 4HM
F A i \43 M
2_sraflsmsmum’ { ollensmum g, 59, Who like only outdoor games and read
Qg remsussasm & umiésing, / Csuafliy books but not indoor games and
flsmsmum’ @ Lohaun USSaN U liusiissi television,
wimr ?
1) GF 2) BC
INGF BC 3; BA 4)) AG
3) BA 4) AG
388/145—11

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html

“y



www.Padasalai.Net www.TrbTnpsc.com
12

60. Gsmomssrd unibsrg, - Qeuefliyn - 60. Who like ‘indoor” games, outdoor

sfleperum’ @, eLyp eflmanum@ wHmo games, "and read books but not
USSELD UgluaIEsT Wi 2 Television? '
no 2)C no 2)C
61 A 4) G 3)A 4)G
auflpsom (efsorm srennr. 61-65) Directions (Q.No. 61 -:65)
GasrH&ssiu L umssfle SBES aumHD In the given figure series, chocs«.e the
uLgeg Qgiflay Qaiis. appropriate ~opfion ~which continues
the series.
6l. J+|= g I 4 +1= -} x 3 6l. |+1]= “1vId+]l= —1x %
x|- i+ X |- =1+ x| - =)+ o (I .t + .
+ X + == + X +- -
; 1 2)
DT 2) i ) o N £l =
i + =z =
3 Ll® 4) AL 3) : 4)
: % + — = X +
' 62.
A E=DE '-’
B8\ ,
1) 2) 1) 2)

388/145—12
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63. il
Y o8
1)
yr o] 8
ool | e] [oe] [0 64. e
-~ PY s 0 [ ] 0 & o
o of o lo-ol PoY ? o o 19 lo ol foce| 2
0 Q9 0 )
1 : ¢] o)
e o Mo o Ny o 2)0.
. 0
3 4) a e [{]
' °g° %4 a0 Mo o

388/145—13
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" Direction (Question No. 66 =70)

Qer@Easlicl  uLpSm  GagulL Find the figure which is different from
L ugmg Ggifay Qeiis. ¢ © -others.
66. : , 66.
1) 2) 3) i’ 1) 2) 3) &)

T o TR

2] ~_ o] [° 68. [o o] [—= o] [e
o o ol le o o o] lo

69. i AN ® 63 ( - A\A ®

“ @ (©) ) M @) G @

70,

= = Y
|| o [ < ] | D [ |42
") M’ @ ® @

suflupsnm (efleorm erstor. 71-75) Direction (Question No. 71 - 75)

&Cy Qar@ésiu’ Lamfis  sfluirer Choose the -exact mirror image of
semmemrmg NIUSDSS SremmeyD following ﬁgu‘res.

M | 7. §

1 § 2re 10§ 2

70.

4) ) 2)

.

3) e~ 4) oo 3) on 4) oo

388/145—14
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15,

_72" NEWS . b e ‘ 72' NEWS

M\SWIN 7 aMAN CUnSWIW o eual
9754 . 9754 :

nheTe o YaXY »he7e 4 2T
74. g TWSE aasnhrmrm;uﬂgmh (&6 ) 74. Whi
; et : . h le P e .
Gumeirp Siugemg s, Clansgor @eirarg ? im ;I:gce]to I(tl;tt(‘;lg':;i{ it:IZlgzgme or
1)S )7 DS
)S )z

75. UWstraumtn u g : . )

i u(gg;fémiu%ggg;naa 75. Which one will complete the diagram

Geustor@in

@
WQ z,Q @ "!2 T
g 7 2\ »f7:

:76. D& sTevoremenuTss setor(Hidlig. 76 “Find the next number

1 ‘ 24
I i 1,2,6,24,120........ \Rot
: ) 320 1) 240 2320 7o
o 4)930 3)720 4)930
388/145—15
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78.

79,

80.

81

82.

83.

84.

37
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.3
16
SABUL L STSSISSmaTé &siur@dﬁ; 77.
- M
A%CDE(EHJQ%:;, UVWXY
1) LMNO 2) MNO
3) NOPQ AVVINOP
REASON  esrugst  eredwemus 5, 78
BELIEVED, stsiruges steisrgmih, 7 ereufled
GOVERNMENT | srstrugeir §TEU0T 6T
wrg ?
.16 2)8

310 479
Taste : Tongue : : Light : ? 9.
1) Film 2) Camera
37Eye 4) Brain
4%3=13,5*3=16eafled 6 * 3 =? 80.
1)9 2) 18
H1 4) 20
2,0,1,5,7,3,11,9,17, 14,8,6, 12 81.
GuGeu Qar@é&snulHsrer T6INT S6D61T

VA aflmsiu@ssiucL  dern,  GLgl
Comauileihel mibsTas) 616 Sgl?

s 2‘1)7 NE%}S

2014-6 @eurs Hend GUiHNS Spow
aefle 23 (ogsufl 2014 sThg - SlpsnLowns

Bosen?
1) serfl&dlipento mfpmisd&lipenie
ygusc Sgon 4 Gaustaflsdligsw

5

(115)" —flsir pevm Qée 6TeoET 6151 2

s 2)0, -
H1 4)/0/(or) 5

9 7’5‘9

EraTG Eeés BetGufiu  GrisoLlusmL 84.
sRralligh BTG @QNss ifls &l

RDEMOULEHL. srenaTnEf ML P
aflgHuman ?
1) 8999 8997
3) 8998 4) 8990
oD
AN O
O\ O ZAN

> £

06/388!145—-16
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Find the missing letters

A, CD, GHi;....., UWVWXY

1) LMNO 2) MNO

3) NOPQ 4) MNOP

if REASON is coded as 5 ‘and
BELIEVED is coded as 7, what _is (he
code number for GOVERNMENT?
1)6 2)8

3H10 4)9

Taste : Torgue : : Light: ?

i) Film 2) Camera

3) Eye 4) Brain
If4*3=13 and5%3 =16, then 6 * 3 =7
ne 218 '
3)19 4) 20
2.0;1,5,7,3,11,9,17, 14,8, 6, 12.

What is the 3" number from the
extréme leftafter the arrangement
of numbers in descending order?
1)s 217

37 49

If the Republic Day of 2014 was |
Sunday, then name the day which ;
February 23" 2014 falls. :
1) Saturday 2) Sunday
3) Monday 4) Friday

What is the.unit digit of (1 15)"

)5 )0
H1 4)0(or) S

The difference between the greatest
four digit even number and the
smallest four digit odd number is

1) 8999
3) 8998

2) 8997
4) 8990
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86.

87.

88.

80,

90.

BAY' =2%u0hmui 'LIT' = 41 e
"WON' sreiruigy
1)89
3)52

2) 67
4) 66

A*C=B;E * G =F; aaflsh
R*T= .

e
R eevrswflsir LTd) , 64—sir &ear S Sns,
&l e1efied, oyis sreder wrg ?

4 2)8
3)16 4) 32

2)Q
49z

QsrRésiu Gsrsr SUSHIUILIL S0 6185 smenr
Cam’' @5 gimrRser o sirarar ?

[ S

4

1 B C
Yy -4
Uf

S4B R wenfléE o Yoo, Girsd (e
ueflse B ymp, Wiy wale
CPITIY) (Ps) Byjip S@Sth 6160 Syl
1 wenflflsllmig 12 weh susmy 673 G 6menr
G wanfl oy éeih? f o

:3% 2)78

410

Dﬂ

2)5

48 0

-85.

86.

87.

88.

839.

90.

-the given figure?

www.TrbTnpsc.com

&

How many triangles are there in

If 'BAY' =29 and 'LIT' = 41 what is
'WON' equal to?

1)89 2) 67

3)52 966 . 4 o=
5.

.A*C=B;E*G=F;then (,Li

R*T= s o

S BQ))- o

HU 4HZ )

The half of a particular number i
equal to the cube root of 64. then the
particular number is —— -

N4 2)8

3) 16 4) 32

in the given figure, how many lin¢
segmenis are there?

AB ¢ D
1)4 2)s
3)6 48

A clock strikes once at 1 o'clock, twicc
at 2 o'clock, thrice at 3 o'clock and so
on. How many times will it strike from

10" clock to 12 o'clock?

2)78
4) 10 g

)12
3) 65
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senflgin | MATHEMATICS

9L 120x(-2000x0
=637 L0 ———
6x10 -

1)-400 2)0
3)-20 4) 4

92. @ wAyig 18 Qu’Crrsils 26.6 &5
SMHoS sL&Engl. 9151 1360 QU Crmaile
T T T R—
1) 43.85 #.5. 2) 354.8 .8,
3) 438.5 &8, @ 345.8 .4,

93. b(7-2a)elmig a(4-b) o &s1flés.
1) 7b - 4a
2) 7b + 2ab + 4a
3)4b-7a
4)4a+ 7b - 2ab

94. Q@ smusgTD —-— suEST Car@saar
Qe renin_g
n8 24
3)2 4) usy

95. 8@  Afley Qe Qaueflflar  Cuod
TUOREGL &) ahmusehn B Cu
o sitem eflgglunsih yeieflan Qauefluflsir ——
- Ty SmyseluBdng.
1) 9y&@an
2) fls(p@eusaar
3) CriGam & @ Mlesm
4) sf&a

96. & au@lillé) o_sism Lomsmrey
wresrsflseflstr afléflgin 4 @5,
wrewreut seflsir srsgmemfldens 20 srerflen,
urenreflgsilsir sretmsmiiGene stsusuaay ?
015 2)20
P25 430
386/146—3

91,

92,

93.

94.

96.

120 x7-200)x0
The value of i
e value o 5 10 is

1) -400 2)0
3)-20 44

A car covers a distance of 26.6km in
I litre of petrol.” The distance
covered by it in 13 litres of petrol s

1) 43.85 km 2) 354.8 km
3) 438.5 km 4) 345.8 km
Subtract a (4 —b) from b (7 ~ a)
1) 7b — 4a

2) Tb + 22b+4a

3)4b — /74

4)4a +7b - 2ab

A/rhombus has ---- lines of
symmetry

)8 2)4

3)2 4) many

The difference between the upper
and Tower limit is called the ----- of
the class interval

I} width

2) frequency

3) tally marks

4) range

The ratio of boys to girls in a class is
4:5. If the number of boys is 20 find
the number of girls?

)15 2)20

3)25 4) 30
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